Chapter 9 Homework to show for completion marks (5/5)
Due Thursday, April 215

1. Describe the transformations and graph the base function AND the transformed function
below — include mapping notation and the completed table of values.
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State the equation of the asymptote:
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2. Write an equation for each of the transformed graphs below. The base function is given.
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3. Write the equation of each function with the given transformations:

a. f(x)= 1 is stretched vertically by a factor of 2, stretched horizontal by a factor
X

of 2, reflected in the y-axis, and translated 6 right and 3 down.

O 5

y =— is stretched horizontally by a factor of %%, reflected in the x-axis, and
X
translated 3 left and 1 down.
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4. For each of the following functions, simplify (if possible), determine all of the
characteristics of each and graph each function.
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Show work here:

Characteristic Answer
Restrictions
nE4, x| (ypo)
Asymptote(s)
x=4 J zx = | [ 9=
Point(s) of
Discontinuity av-o
x-intercept (
3,8)
y-intercept (0 B ’\> 45
/2
Domain i’ 9
93 XF 1 x4 ey
Range




Characteristic

Restrictions

Show work here:

Asymptote(s)

Point(s) of
Discontinuity

(4,0 3
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y-intercept

Domain

7o |2 F -2, xE 4, xeRs

Range
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Characteristic Answer Show work here:

estrictions (o)
Restrict x;‘:ﬁ- 2%’3#’
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Show work here:

Restrictions
T x4 A, YER
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5. Given the following information, determine a possible equation for the rational function:
Show the final polynomial form of the rational function.
a. Vertical asymptotes at x=—4 and x=2, an x-interceptat x=5 and x=-2
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b. A vertical asymptote at x=-3, x-intercept at x =2, a horizontal asymptote at
y=-4, and a point of discontinuity at x =1
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6. Given the graph of the rational function below, determine a possible equation of the
function:
Show the final polynomial form of the rational function.
a.
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7. Solve the following functions graphically and two d|fferent ways of solving graphically:
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8. Solve the following algebraically and show all restrictions:

a 42 = 5\+4
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